362 IP's 1146 IP's 759 IP's 160 IP's

1
30,15 8 5 [ 50,40, RN 6 -
o "I'% 10 THK CHUTE PUATE 10 10 FLG 12 811IP's
| g <

1370 2033

i 259

kﬁ
S
10 JHL ANGE

109 IP's
1409 IP's

=f
ENLARGED DETAIL /A ENLARGED DETAIL /B ENLARGED DETAIL /T ENLARGED DETAIL /D ENLARGED DETAIL /F ENLARGED DETAIL .
2814 281 W 2874 N, N
%0, 10

=

=

1609 IP's
10 Fi
1609 IP's

Y

3

113

£/
$ |
L BHP.IRON ORE STANDARD DOMITE WEAR BARS BHP IRON ORE STANDARD DOMITE WEAR BARS 60_, 30
- SHOP BOLTED TO CHUTE WALLS WITH M20 GR 88 BOLTS FOR WEAR SHOP BOLTED 10 CHUTE WALLS WITH M20 GR 88 BOLTS
BAR MARKS & LOCATION SEE ORAWING 087-M-2902 & 2903 FOR WEAR BAR MARKS & LOCATION SEE DRAWING 087-M-290L
m 90x10_STIFF
“© N
. & /
g 2 @ N s
@ 2 -
2 = - z 0
S “w = £y !
n £ - -
g : - : H{ TYPICAL ENLARGED DETAIL OF
e 3 - & = sl & STIFF AT BTM FLANGE WHEN
2 X a ' = INTERFERS WITH FLANGE HOLES
TE
s g 3 S g
3 b=1 -
gl qf g s
T0P FLANGE 1P LINES / = - H
AND WORK PONTS _
= ]
1004 123 79| | 8 SECTION - =
759 IP"
12 THICK ULTRA HIGH MOLECULAR POLYETHYLENE LINERS JSEU'UNAL P'-AN . 59 P 0 s
SHOP FIXED TO REAR CHUTE PLATES "WELD WASHER™ METHOI
3352 1P BHP_IRON ORE STANDARD DOMITE WEAR BARS SHOP D
| : BOLTED 10 CHUTE WALLS WITH M20 GR 88 BOLTS FOR WEAR 4@“[“0" 4““0" @) ENLARGED DETAIL
| 29 s " BAR MARKS 8 LOCATION SEE DRAWING 087-M-2302 & 2904
/A 362 s I 0 s 152 P's
< THESE UNES REPRESENT B P STANDARD DOWITE WEAR BARS| | 0™\ y =] [BHP RoN oRe STANDARD DOMITE
FOR LOCATION & DETAILS SEE DRAWNGS 087-M-2902 & 2903 |03 | s p's 09 P's | |WEAR BARS.SHOP BOLTED 10 GENERAL NOTES
A \_/ [ O0wpi2s ' HUTE WITH M20 GR 88 BOLTS 1FOR GENERAL NOTES REFER TO DRAWING N* 087-M-287L
| BN [ o DOMITE BARS IYPE DLP201A UNO.
t
. | ] / - NG W . S oy ERECTION NOTES
1 / / ’ DLP3L3 é | 0LP33T 1FOR GENERAL NOTES REFER TO DRAWING N* 087-M-2874
27 [\ _/ / / oupis £ ' |
g 2 g\ o R 2| g & 3/01P369
g - 3\ % o <l B = l sl 1 20 THIS DRAWING T0 BE READ IN
— e | =l —e 0, CONJUNCTION WITH DRG No -
- 1T = %, 087-M-2874
gl . a ' Y 2 = v / &y
R - .
5 —— = < \p qf o |
NI = L _! S " -] STANDARD DOMITE WEAR BARS 000-M-0221
4 = = L = TONV_P17P2 TRANGFER UPGRADE
| | El bod _ | 8 75N\0UPN3 sl 7 | - 1113 1/5 10 cHlTe PLATE TRANSFER CUTE ARRANGEMENT  surs| 987-M-2874
2 — = | s CONV P1/P2 TRANSFER UPGRADE 12881
1 = — e = SECTIN] P2 TAIL END MARKING PLAN
|;z THICK ULTRA HIGH MOLECULAR POLYETHYLENE LINERS : : m SECTION /71T ENLARGED DETAIL /P (G PR TRANGHER SPCRROE 1 og7. w2071
HOP FIXED 0 REAR CHUTE PLATES "WELD WASHER" METHO 352 P's - " N N/ [sramoaro WSPECTION 000RS prowpe
BHP_IRON ORE_STANDARD DOMITE WEAR BARS o B 12 & 88 IP's P17/ P2 TRANSFER UPGRADE
SECTION /5™ e puaTe - SECTION /72 [SHoP BOLTED 10 CHUTE WALLS WITH M20 GR 88 BOLTS| s 25, > SO0k 3 Eatcon BRottouRe | 987 -H-2911
) O_UHUTE PLATE —_ @i/ [DOMTE BARS TYPE DLP2OIA UNO X K N R A CONV P / P2 TRANSFER UPGRADRg7.-M-2680
PLATE _ . N : ARRANGEMENT OF DUST HODDS
< 10 GUTE 5 . | ONV P/ P2 TRANGFER UPCRADE,
2y - « A " - o ARRANGEMENT OF SKRTS 987-M-2879
o 2 =2 S ] > - S TONV P1 / P2 TRANGFER UPGRADG g7y
{___ =y = - &8 : E N N GAOF P2 TAL END - oe7-M-2876
== g i e ) z ST P TR P oA
2l = 3 Rl ®s - < = AN Y “ / 9, W, EONY Py HEADCAUTE. ABRGT sy | 887-M-2873
e \ \ PT B3 TRANGF ER TRCHA
201 ®'s gl 2 x 78 < o GO 1 HEACaUTE 1-H-2872
w| Lol 10 (HJTE PLATE P e 12 s, noS =T Pl P2 TRa TPGRADE
- M]%N?? SEI;IYI( Eok
ENLARGED DETAIL ‘ ENLARGED DETAIL ‘ ENLARGED DETAIL ‘ ENLARGED DETAIL . ENLARGED DETAIL ENLARGED DETAIL 69 ‘V;AA%%%
W W W W TEL:iﬂE)BﬂS 1664 REFERENCE DOCUMENTS
Scate 1:20 CLIENT PROJECT
DRAWN EH BHP BILLITON PORT ORE HANDLING
CHECKED @ CONVEYORS
DESIGNED H4B
0 1SSUED FOR CONSTRUCTION hgp | EH | GB DESIGN CHECK MINING DRAWING TITLE [I(.)IBN; ;Rﬁzau;;s/a REV
PROJECT_APP. M.
A 1SSUED FOR APPROVAL % EH | GB. AP FOR CONST CONVEYOR P1/ P2 TRANSFER UPGRADE H 8 B DRG No. 0

ORG_NUMBER REFERENCE DRAWING TITLE N°| DATE RE VISIONS

P e o s po—, o oo Toon AT SHEE e[ son | onte HB11 TRANSFER CHUTE ARRANGEMENT- SHEET 2



ODGKINSON PRC Head Office
7 Tahiti Lane, Hillarys, Perth,

& Western Australia
o Phone: (08) 9403 2993
\l Email: info@handbmining.com.au

’W THE EXPE|
L IN CONVEYOR SKII www.handbmining.com.au

H & B Mining: “The Experts in Conveyor Skirts”

H & B Mining design and supply a range of “Easy Maintenance” conveyor transfer products to the Australian
mining industry with the aim of providing a safer, easier to maintain and more efficient working environment
at conveyor transfer points.

H & B Mining was established in April 1993 with the promise of providing a standalone conveyor design
service tailored to accommodate the mines of Australia. After witnessing maintenance crews struggling to
maintain and change out poorly designed products for conveyor transfers H & B decided to expand its
portfolio by developing its own range of ‘Easy Maintenance Products’ for conveyor transfer points including:
conveyor idlers, conveyor skirting systems, hinged dust covers, conveyor guards, conveyor diversion
plough, streamline conveyor transfer design and the retractable loading boot.

The “Easy Maintenance” conveyor product range harnesses H & B’s vast experience in the field along with
the innovative design technology nurtured over the years within the H & B design team. The Australian
mining industry has benefited from H & B'’s toil, witnessing enhanced overall productivity, reduced shutdown
time and improved safety whilst gaining cost effective mining conveyor operations. H & B Mining products
have been installed as mine standard by Rio Tinto, BHP Billiton, Roy Hill and FMG, amongst others.

H & B Mining has an in-house design team specialising in materials handling projects for new and/or existing
mines. The design work produced by H & B Mining incorporates mechanical, structural and civil engineering
along with drafting at competitive rates.H & B’s in-house design team have collaborated over the years and
collectively contributed to the development of the easy maintenance product range. The team specialises in
conveyor transfer upgrades and materials handling projects but have also handled numerous structural,
mechanical and civil projects over the years. Whilst being able to offer a service where design work can be
tailored to suit each clients needs, H & B can also offer their innovative development service.H & B have helped
clients develop new designs to incorporate safe and simple operation and maintenance procedures to suit the
clients required applications and on site conditions. H & B’s team are continuously reviewing existing designs that
are regarded as standards in the Australian mining industry, and exploring ways to improve, simplify and make a
safer working environment for all maintenance teams.


http://www.handbmining.com.au/

